M.V.U.E (Minimum Variance Unbiased Estimator)

<u>Reminder</u>: Let $X_{1,...,X_{n}}$ r.s. with PDFs $\overline{f}(x; \theta)$ and we want to estimate θ (or $g(\theta)$). An estimator $\overline{\delta}=\overline{\delta}(X)$ is called unbiased estimator of θ (or $g(\theta)$) if $\overline{F}[\overline{\delta}]=\overline{\theta}$ $(or f[\delta]=q(\theta))$

~ Among all unbiased estimators we seek for the one with the minimum variance.

Definition An estimator $\mathcal{J} = \mathcal{J}(\mathbf{X})$ is called m.v.u.e. of \mathcal{O} (or $g(\mathcal{O})$) $V(\mathcal{J}) \leq V(\mathcal{J}_1)$ for all unbiased estimators \mathcal{J}_1 of \mathcal{O} (or $g(\mathcal{O})$) $\frac{\text{Reminder}}{\text{Reminder}}: MSf: ff(\overline{\sigma}-\theta)^2] = V(\overline{\sigma}) + b_{\overline{\sigma}}^2(\overline{\sigma})$

Onbias - Sufficiency Relation Let TI=TI(X) and TR=TR(X) unbiased estimators of O such that EITI]=EIT2]=O. Let 7=T(X) sufficient statistic for Q. We suggesse that T1=7(T) for some Ruyction F(.). IZ sufficiency has any value then we expect $V(T_1) \in V(T_2)$

Let U=U(X) and Y=Y(X) such that f[U]=0 and O=V(U)<00

Lemma

Let f[U|Y=y]=W(y)=W, then $f[W]=\Theta$ and V(W)=V(v)

uith PDFs gradul, galy) Proof Suppose that U, Y are continuous random variables, q(u,v) is their joint PDF and h(uly) the S PDF of Uly=y We have FIU (Y=y]= Store uh(uly) du, so: $f[w] = \int_{-\infty}^{+\infty} w(y) g_1(y) dy = \int_{-\infty}^{\infty} f(y) dy = \int_{-\infty}^{+\infty} f(y) dy = \int_{-\infty}^$ = $\int \int \int \frac{d}{dy} (u|y) du \left[\frac{g_1(y)}{g_1(y)} dy = \int \int \frac{g(u,y)}{g_1(y)} \frac{g_1(y)}{g_1(y)} dy =$ $= \delta u \int g(u,y) \partial y J \partial u = \delta u g_{e}(u) \partial u = f [u] = \Theta$ So $f[0] = f[w] = \Theta$ We have: $V(U) = f[(U-f(U))^2] = f[(U-w+w-\theta)^3] =$ $= f \left[(\upsilon - \omega)^{2} \right] + f \left[(\upsilon - \theta)^{2} \right] + 2 f \left[(\upsilon - \omega) (\omega - \theta) \right]$ and it is $F[(u-w)(w-\theta)] = S[(u-w)(w-\theta)q(u,y)dudy =$ $= SS(\alpha-w)(w-\Theta)h(\alpha | y) \partial u \partial y = S(w-\Theta)q(y) IS(u-w)h(u | y) \partial u \partial y$ but S(u-w(y)) h(uly) du = Suhlely) du - Swly) hluly) du = $= E \int \left(\left| Y = y \right|^{2} - W(y) \right) \cdot \left\{ h(u|y) \right\} du = E \int \left(\left| Y = y \right|^{2} - W(y) \right) = 0$ So $V(\upsilon) = f[(\upsilon - \omega)^2] + f[(\omega - \theta)^2]$ and $ff(w-\theta)^{2} = V(w)$ since $ff(w-\theta)^{2} = 0$ Finally $V(U) = \pm I(U - w)^2 + V(w) > V(w)$, since $f(U - w)^2 = 2$ (Alternatively: V(u) = V(F[u|y]) + F[V(u|y)] = V(w) + F[v(u|y]]<u>Note</u>: W = W(y) = E[U| Y = y] is a statistic because U is unbiased.

Rao-Blackwell Theorem

Let X1,..., Xv V.S with PDE P(x; 0) (discrete or continuous). Let Y=Y(X) sufficient statistic for 0 and U=(1(X)) unbiased estimator of O. Then, the statistic W=W(Y)=E[U|Y=y. is an unbiased estimator of Q (so E[w]=Q) and V(w)=V(U)

Proof The work above Example Let Xs,..., Xs r.s. of Bernoulli (G) with PDF Z(x; G)= $= \Theta^{*}(1-\Theta)^{*}, \times \in \{0,1\}, \Theta \in (0,1)$ We know that f[xi]=0 oud that T=T(x)= xi is sufficient For O. According to the R-B theorem, the r.v. W= E[X1 17=t] is an unbiased estimator of Q and V(w) < V(v). For 1=t=v: E[X1 |7=t]=2×1.P(×1=×1 |7=t)= $= O \cdot P(X_{1}=0 | 7=t) + 1 \cdot P(X_{3}=1 | 7=t) = P(X_{1}=1 | 7=t) = P(X_{1}=1 | 7=t) = P(X_{1}=1, 7=t) = P(X_{1}=1, 7=t) = P(X_{1}=1, 7=t) = P(X_{1}=1, 7=t) = P(T=t) = P(T=t$ $= P(x_{1}=1) \cdot P(z_{1}=t-1) / P(z_{1}=t) = \frac{\Theta(t-1)}{U} + \frac{\Theta(t-1)}{U} + \frac{\Theta(t-1)}{U} = \frac{\Theta(t-$ For t=0: f(X1 | T=0]= ZP(X1=X1 | T=0) = 0 Hence, $f[X_1|T=t] = \frac{t}{\nabla} = \frac{1}{2} \times i/\nu = \overline{X} \quad \forall f \in \{0, \dots, v\}$ Obviously, $f[w] = f[\overline{X}] = \Theta \quad dy \geq V(w) = V(\frac{2}{\nabla}) = \frac{\Theta(1-\theta)}{\nabla} \times \Theta(1-\theta) = V(X_1)$

The statistic $T_4(X_{u}, Z_{x_i})$ is also sufficient for Θ . $F[X_1 | T_1=t_1] = P(X_1=x_1 | T_1=t_1) = \frac{P(X_1=x_1, X_1=x_1, Z_{x_i}=t_1)}{P(X_1=x_1, Z_{x_i}=t_1)} = \frac{P(X_1=x_1, X_2=x_2, Z_{x_i}=t_1)}{P(X_1=x_1, Z_{x_i}=t_1)}$ $=\frac{P(x_{1}=x_{1}) \cdot P(x_{1}=x_{1}) \cdot P(z_{2}=x_{1}) \cdot P(z_{2}=x_{1}=t_{1}-x_{1})}{P(x_{1}=x_{1}) \cdot P(z_{2}=x_{1}=t_{1})} = \frac{G(z_{1}-z_{1})}{(z_{1}-z_{1})} = \frac{G(z_{1}-z_{1})}{(z_{1}-z_{1})$ $=\frac{\binom{V-Q}{(+1-1)}}{\binom{V-1}{(+1)}} = \frac{t_{1}}{\sqrt{-1}} \quad \text{so} \quad w_{1} = f[X_{1}[T_{1}] \quad u.e. \quad of \quad \theta$ an $V(w) = V\left(\sum_{i=1}^{v-1} \sqrt{v-1}\right) = \underbrace{(v-1)^{e}}_{v-1} (v-1) \cdot \Theta(1-\theta) = \underbrace{\Theta(1-\theta)}_{v-1} \times \underbrace{\Theta(1-\theta)}_{v-1} = V(w)$